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PART I : PHYSICS
SECTION-I (Maximum Marks : 18)

This section contains SIX (06) questions.

Each question has FOUR options for correct answer(s). ONE OR MORE THAN ONE of these four option(s)

is (are) correct option(s).

For each question, choose the correct option(s) to answer the question.

Answer to each question will be evaluated according to the following marking scheme:

Full Marks : +4 If only (all) the correct option(s) is (are) chosen.

Partial Marks : +3 If all the four options are correct but ONLY three options are chosen.

Partial Marks : +2 If three or more options are correct but ONLY two options are chosen, both of which are

correct options.

Partial Marks : +1 If two or more options are correct but ONLY one option is chosen and it is a correct option.

Zero Marks : 0 If none of the options is chosen (i.e. the question is unanswered).

Negative Marks : –2 In all other cases.

For Example: If first, third and fourth are the ONLY three correct options for a question with second option

being an incorrect option; selecting only all the three correct options will result in +4 marks.

Selecting only two of the three correct options (e.g. the first and fourth options), without selecting any incorrect

option (second option in this case), will result in +2 marks. Selecting only one of the three correct options

(either first or third or fourth option) ,without selecting any incorrect option (second option in this case), will

result in +1 marks. Selecting any incorrect option(s) (second option in this case), with or without selection of

any correct option(s) will result in -2 marks

WPE

1. A particle of mass m  is initially at rest at the origin. It is subjected to a force and starts moving along the x-axis.

Its kinetic energy  K changes with time as dK/dt = t where  is a positive constant of appropriate dimensions.

Which of the following statements is (are) true?

(A) The force applied on the particle is constant

(B) The speed of the particle is proportional to time

(C) The distance of the particle from the origin increases linearly with time

(D) The force is conservative

nzO;ekUk m  dk ,d d.k 'kq:vkr esa ewYk fcUnq (origin) ij fojkekoLFkk esa gSA d.k dk ,d cYk YkxkUks ls og x-

v{k ij pYkUks Ykxrk gS vkSj d.k dh xfrt ÅtkZ K le; ds lkFk dK/dt = t ds vuqlkj ifjofrZr gksrh gS tgka
 ,d mfpr foekvksa okYkk /kUkkRed fu;rkad gSA fuEUkfyf[kr dFkUkksa esa ls dkSUk lk@ls lgh gS@gSa &
(A) d.k ij Ykxk;k x;k cYk fu;r gSA
(B) d.k dh pkYk le; ds lekUkqikfrd gSA
(C) d.k dh ewYk fcUnq ls r; dh x;h nwjh] le; ds lkFk rjhds ls c<+rh gS
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(D) cYk laj{kh gSA
S. ABD

dv dk
mv t

dt dt
  

vdv t dt
m




2 2v t

2 m 2


 v t 

dv
cons tan t

dt
   F = constant

dx
t

dt
 2x t 

Properties of Matter

2. Consider a thin square plate floating on a viscous liquid in a large tank. The height h of the liquid in the tank is

much less than the width of the tank. The floating plate is pulled horizontally with a constant velocity u
0
. Which

of the following statements is (are) true ?

(A) The resistive force of liquid on the plate is inversely proportional to h

(B) The resistive force of liquid on the plate is independent of the area of the plate

(C) The tangential (shear) stress on the floor of the tank increases with  0

(D) The tangential (shear) stress on the plate varies linearly with the viscosity  of the liquid

ekUk yhft;s fd ,d ';kUk (viscous) nzo ds ,d cMs+ VSad dh pkSMkbZ ls cgqr de gSA rSjrh gqbZ IysV dks  ,d fu;r osx

(constant) u
0
 ls {kSfrt  fn'kk esa [khapk tkrk gSA fuEufyf[kr dFkukas esa ls dkSu lk  (lsa) lgh gS (gSa)

(A) nzo ds }kjk IysV ij yxk;k x;k izfrjks/kd cy  h ds O;qRØekuqikrh gSA

(B) nzo  ds }kjk IysV ij yxk;k x;k izfrjks/kd cy IysV ds {ks=kQy ij fuHkZj ugha djrk gSA

(C) VSad dh Q'kZ ijyxrk gqvk Li'kZjs[kh; izfrcy 0  ds lkFk c<rk gSA

(D) IysV ij yxus okys Li'kZjsf[k; nzo dh ';kurk   ds lkFk js[kh; rjhds ls cnyrh gSA

dv
f A

dy
 

0u
A

h
 
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Electrostatics

3. An infinitely long thin non-conducting wire is parallel to the z-axis and carries a uniform line charge density  .

It pierces a thin non-conducting spherical shell of radius R in such a way that the arc PQ subtends an angle

120° at the centre O of the spherical shell, as shown in the figure. The permittivity of free space is  0 . Which

of the following statements is (are) true?

z-v{k ds lekUrj ,d vUkUr YkEckbZ dh irYkh vpkYkd rkj ij ,d lekUk js[kh; vkos'k ?kUkRo   gSA ;g rkj
R f=kT;k okYks ,d irYks vpkYkd xksYkh; dks'k dks bl izdkj Hksnrk gS fd vkdZ PQ xksYkh; dks'k ds dsUnz O ij
120° dk dks.k cUkkrh gS] tSlk fd fp=k esa n'kkZ;k x;k gSA eqDr vkdk'k dk ijkoS|qrkad (permittivity of free

space)   0  gSA fuEUkfyf[kr dFkUkksa esa ls dkSUklk@dkSUkls lgh gS@gSa &

(A) The electric flux through the shell is 
03R / 

(B) The z-component of the electric field is zero at all the points on the surface of the shell

(C) The electric flux through the shell is 
02R / 

(D) The electric field is normal to the surface of the shell at all points

(A) dks'k ls xqtjus okYkk oS|qr ¶YkDl 
03R /   gSA

(B) oS|qr {ks=k (electric field) dk z-?kVd dks'k ds i`"B ds lHkh fcUnqvksa ij 'kwU; gSA

(C) dks'k ls xqtjus okYkk oS|qr ¶YkDl 
02R /   gSA

(D) oS|qr {ks=k dks'k ds i`"B ds lHkh fcUnqvksa ij YkEcor~ gSA
S. AB
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encQ 3R 

enc

0 0

Q 3 R
  

 

Geomatrical Optics

4. A wire is bent in the shape of a right angled triangle and is placed in front of a concave mirror of focal length f,

as shown in the figure. Which of the figures shown in the four options qualitatively represent(s) the shape of the

image of the bent wire? (These figures are not to scale.)

,d rkj dks ,d ledks.k f=kHkqt ds vkdkj esa eksM+dj f Qksdl nwjh (focal length) okYks ,d vorYk niZ.k ds lkeUks
j[kk x;k gS] tSlk fd fp=k esa n'kkZ;k x;k gSA pkj fodYi fp=kksa esa ls dkSUklk@dkSUkls fp=k eqMs+ gq;s rkj ds
izfrfcEc dk lgh vkdkj xq.kkRed rjhds ls n'kkZrk gS (;s fp=k LdsYk ds vuqlkj ugha gS)

(A)  (B) 

(C)  (D) 

S. B

0

0

x
tan

f x
 



0
0

0 0

xh h
(f x )

x f x x
  

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0

0

x
tan

f x
 



0

0

xh

x 2f f x


 

0

0

h
(f x ) x 2f

x
   

0 0

0 0

h h
(f x ) (f x ) 2f

x x
    

0 02hx 2fx 

h f 

Nuclear Physics

5. In a radioactive decay chain,  232
90 Th  nucleus decays to 212

82 Pb  nucleus. Let N  and N  be the number of  

and   – particles, respectively, emitted in this decay process. Which of the following statements is (are) true?

,d jsfM;ks,fDVo {k; Jà[kYkk esa,  232
90 Th  UkkfHkd] 212

82 Pb  UkkfHkd esa {kf;r gksrk gSA bl {k; izØe esa mRlftZr gq;s   rFkk  –

d.kksa dh la[;k Øe'k% N  rFkk N  gSA fuEUkfyf[kr dFkUkksa esa ls dkSUklk@dkSUkls lgh gS @ gSa &

(A) N 5  (B) N 6  (C)  N 2  (D) N 4 

S. AC

232 212 4 0
90 82 2 1Th Pb x He y e  

2x – y = 8

4x = 20

Sound Waves

6. In an experiment to measure the speed of sound by a resonating air column, a tuning fork of frequency 500 Hz

is used. The length of the air column is varied by changing the level of water in the resonance tube. Two

successive resonances are heard at air columns of length 50.7 cm and 83.9 cm. Which of the following state-

ments is (are) true?

(A) The speed of sound determined from this experiment is 332 ms–1
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PHYSICS

(B) The end correction in this experiment is 0.9 cm

(C) The wavelength of the sound wave is 66.4 cm

(D) The resonance at 50.7 cm corresponds to the fundamental harmonic

vuquknh ok;q LraHk ds ,d iz;ksx esa /ofUk dh pkYk ekiUks ds fy, 500 Hz dh vko`fRr okYks ,d Lofj=k f}Hkqt
(tunning fork) dk mi;ksx fd;k tkrk gS vuqukn uyh esa tYk dk Lrj cnYkdj ok;q LraHk dh YkEckbZ cnyh tkrh
gSA nks mRrjksRrj vuqukn] ok;q LrEHk dh YkEckbZ 50.7 cm rFkk 83.9 cm ij lqUks tkrs gSA fuEUkfyf[kr dFkUkksa esa
ls dkSUk lk@ls lgh gS@gSa &
(A) bl iz;ksx ls fu/kkZfjr /ofUk dh pkYk 332 ms–1 gSA
(B) bl iz;ksx esa vaR; la'kks/kUk (end correction) 0.9 cm gSA
(C) /ofUk rjax dh rjaxnS/;Z (wavelength) 66.4 cm gSA
(D) 50.7 cm ij lqUks tkUks okYkk vuqukn] ewYk xq.kko`fRr (fundamental harmonic) gSA  

S. AC

(2n + 1) 
4


= 50.7 cm + e   ...........(1)

(2n + 3) 
4


= 83.9 cm + e   ...........(2)

83.9 50.7 33.2
2


  

66.4cm 

66.4
v f 500 332m / s

100
     

= 0.9 cm

SECTION 2 (Maximum Marks: 24)

This section contains EIGHT (08) questions. The answer to each question is a NUMERICAL VALUE.

For each question, enter the correct numerical value (in decimal notation, truncated/rounded-off to the second

decimal place; e.g. 6.25, 7.00, -0.33, -.30, 30.27, -127.30) using the mouse and the on-screen virtual numeric

keypad in the place designated to enter the answer.

Answer to each question will be evaluated according to the following marking scheme:

Full Marks : +3 If ONLY the correct numerical value is entered as answer.

Zero Marks : 0 in all other cases.

Kinematics

7. A solid horizontal surface is covered with a thin layer of oil. A rectangular block of mass m = 0.4 kg is at rest

on this surface. An impulse of 1.0 N is applied to the block at time  t = 0 so that it starts moving along the x-axis

with a velocity    t /
0t e    , where   0  is a constant and = 4s. The displacement of the block, in metres,

at  t =    is __________. Take e–1 = 0.37.

,d Bksl {kSfrt rYk rsYk dh ,d irYkh ijr ls <dk gqvk gSA nzO;ekUk (mass) m = 0.4 kg dk ,d vk;rkdkj
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xqVdk bl ry ij fojkekoLFkk esa gSA 1.0 N s ifjek.k dk ,d vkosx xqVds ij t = 0 le; ij Ykxk;k tkrk gS

ftlds QYkLo:i xqVdk x-v{k ij   t /
0t e     osx ls pYkUks Ykxrk gS] tgka 0  ,d fLFkj jkf'k gS vkSj =

4s gSA le; t =    ij] xqVds dk foLFkkiUk __________ ehVj gSA (e–1 = 0.37 Yksaos)
Ans. 6.30

S. 0

J 1 5
v m / s

m 0.4 2
  

t /
0

0

s v e dt


  

=   1
0v 1 e 

=    
5

4 0.63 6.30m
2

 
 

 

COM

8. A ball is projected from the ground at an angle of 45° with the horizontal surface. It reaches a maximum height

of 120 m and returns to the ground. Upon hitting the ground for the first time, it loses half of its kinetic energy.

Immediately after the bounce, the velocity of the ball makes an angle of 30° with the horizontal surface. The

maximum height it reaches after the bounce, in metres, is

,d xsan dks Hkwfe ij {kSfrt rYk ls 45° ds dks.k ij iz{ksfir fd;k tkrk gSA xsan 120 m dh vf/kdre Å¡pkbZ ij
igqap dj Hkwfe ij okil YkkSV vkrh gSA Hkwfe ls igYkh ckj VdjkUks ds mijkar xsan dh xfrt ÅtkZ vk/kh gks tkrh
gSA VdjkUks ds rqjUr ckn xsan dk osx {kSfrt rYk ls 30° dk dks.k cUkkrk gSA VdjkUks ds ckn xsan ........... ehVj
dh vf/kdre Å¡pkbZ ij igqaprh gS \

Ans. 30 m

S.

2
2

1
K mu

2


y

x

U 1
tan 30

U 3
  

2 2u sin 45
H

2g




y x3u u

= 

2u
120m

4g
  2 2 2

f x y

1 1
K mu m u u

2 2
  

f i

1
K K

2


 2 2 2
x y

1 1 1
m u u mu

2 2 2
   

2
2 2
x y

u
u u

2
  
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  using u
x
 =   y3u

2
2 2
y y

u
3u u

2
  

2
2
y

u
u

8
 

2 2 2
yu u 1 u

h
2g 16g 4 4g

 
    

 
 = 

H 120
30m

4 4
 

Kinematics

9. A particle, of mass 10–3 kg and charge 1.0  C is initially at rest. At time  t = 0, the particle comes under the

influence of an electric field     0
ˆE t E sin t i 


, where   1

0E 1.0N C  and  3 110 rad s  . Consider the

effect of only the electrical force on the particle. Then the maximum speed, in ms–1, attained by the particle at

subsequent times is

,d d.k] ftldk nzO;ekUk 10–3 kg rFkk vkos'k 1.0  C gS] 'kq:vkr esa fojkekoLFkk esa gSA le; t = 0 ij ;g d.k

,d fo|qr {ks=k   0
ˆE t E sin t i 


 ds izHkko esa vkrk gS] tgka 1

0E 1.0N C  rFkk 3 110 rad s   gSA d.k ij

dsoYk fo|qr cYk dk gh izHkko ekfUk;sA rc ijorhZ (subsequent) le; ij d.k dh vf/kdre pkYk ........... ms–1 gS
\

Ans. 2.00

S. q 0

dv
E qE sin t m

dt
  

v /

0

0 0

qE
dv sin t dt

m

 

  

 
/0

0

qE
v cos t

m

 
  


    0qE
cos cos 0

m
    



02qE

m



 = 2m/s

Electromagnetic Induction : EMI

10. A moving coil galvanometer has 50 turns and each turn has an area 2 × 10–4 m2. The magnetic field produced

by the magnet inside the galvanometer is 0.02 T. The torsional constant of the suspension wire is 10–4 N m rad–1.

When a current flows through the galvanometer, a full scale deflection occurs if the coil rotates by 0.2 rad. The

resistance of the coil of the galvanometer is 50. This galvanometer is to be converted into an ammeter
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capable of measuring current in the range 0 – 1.0 A. For this purpose, a shunt resistance is to be added in

parallel to the galvanometer. The value of this shunt resistance, in  ohms, is

,d pYk dqaMYkh xSYosUkksehVj esa 50 Qsjs (turns) gS vkSj gj Qsjs dk {ks=kQYk 2 × 10–4 m2 gSA xSYosUkksehVj esa mifLFkr pqEcd ls

0.02 T dk pqEcdh; {ks=k mRiUUk gksrk gSA fuYkacUk rkj dk ,saBUk fu;rkad (torsional constant) 10–4 N m rad–1 gSA

xSYosUkksehVj esa /kkjk cgUks ds le;] ;fn dqaMYkh 0.2 rad ?kqerh gS rks xSYosUkksehVj esa iw.kZ iSekUkk fo{ksi gksrk gSA xSYosUkksehVj dh

dqaMYkh dk izfrjks/k 50 gSA bl xSYosUkksehVj dks 0 – 1.0 A dh jsUt (range) eas /kkjk ds ekiUk djus ;ksX; ,d ,ehVj ds :i

esa ifjofrZr djUkk gSA blds fy, ,d 'kaV izfrjks/kd dks xSYosUkksehVj ls ik'OkZØe esa la;ksftr djUkk iM+rk gSA bl 'kaV izfrjks/kd

dk ekUk ........ vkse gS \

Ans. 5.56 or 5.55

S. N = 50

A = 2 × 10–4 m2 C = 10–4, R = 50  , B = 0.02 T,  0.2rad 
Ni AB = C

4

g 4

C 10 0.2
i

N AB 50 2 10 0.02





 
 

  

= 0.1 A
i
g
 × G = (i – i

g
)S

0.1 × 50 = (1 – 0.1) ×  S

5 = 0.9 × S

50
S

9
 

Errors and Measurement

11. A steel wire of diameter 0.5 mm and Young’s modulus 2 × 1011 N m–2 carries a load of mass  M. The length of

the wire with the load is 1.0 m. A vernier scale with 10 divisions is attached to the end of this wire. Next to the

steel wire is a reference wire to which a main scale, of least count 1.0 mm, is attached. The 10 divisions of the

vernier scale correspond to 9 divisions of the main scale. Initially, the zero of vernier scale coincides with the

zero of main scale. If the load on the steel wire is increased by 1.2 kg, the vernier scale division which coincides

with a main scale division is __________. Take g = 10 ms–2 and   = 3.2.

,d bLikr ds rkj] ftldk O;kl 0.5 mm rFkk ;ax xq.kkad 2 × 1011 N m–2 gS] ls M nzO;ekUk dk ,d Hkkj YkVdk;k tkrk kgSA

Hkkj YkVdkUks ds ckn rkj dh YkEckbZ 1.0 m gSA bl rkj ds var esa 10 Hkkxksa okYkk ,d ofUkZ;j iSekUkk Ykxk;k tkrk gSA bLikr ds

rkj ds ikl ,d vkSj lanHkZ rkj gS ftl ij 1.0 mm vYirekad okYkk ,d eq[; iSekUkk Ykxk gqvk gS ofUkZ;j iSekUks ds 10 Hkkx

eq[; iSekUks ds 9 Hkkxksa ds cjkcj gSA 'kq:vkr esa] ofUkZ;j iSekUks dk 'kwU; eq[; iSekUks ds 'kwU; ls laikrh gSA ;fn bLikr ds rkj ij

YkVdk;k x;k Hkkj 1.2 kg ls c<+k;k tkrk gS] rks eq[; iSekUks ds Hkkx ls laikrh gksUks okYkk ofUkZ;j iSekUks dk Hkkx __________

gSA g = 10 ms–2 rFkk  = 3.2 YksaA
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Ans. 3

S.
F

AY
 

l
l

2

4F

d Y



l

8 11

4 12 1
0.3mm

25 10 2 10

 
 
   

10 VSD = 9 MSD

9
1VSD MSD

10


 Least count, L.C. = 1 MSD – 1 VSD

9
1 MSD

10

 
  
 

1
MSD 0.1mm

10
 

3rd vernier scale division coincides with a main scale division.

Thermodynamics

12. One mole of a monatomic ideal gas undergoes an adiabatic expansion in which its volume becomes eight times

its initial value. If the initial temperature of the gas is 100 K and the universal gas constant R = 8.0 J mol–1 K–1,

the decrease in its internal energy, in Joule, is

,dijekf.od vkn'kZ xSl (monatomic ideal gas) ds ,d eksYk dk vk;rUk (volume), :}ks"e izlkj (adiabatic

expansion) ls] viUks izkjafHkd ekUk dk vkB xqUkk c<+ tkrk gSA lkoZf=kd xSl fu;rkad R dk 8.0 J mol–1 K–1 YksaA
;fn xSl dk vkjafHkd rkiekUk 100 K gks rks bl izfØ;k esa xSl dh vkarfjd ÅtkZ ........... twYk ls de gks tkrh
gS \

Ans. 900 J

S.  
11

fT V T 8V
 

 
f 5

1
3

T T
T

48


  

v

f f 3T
U nC T nR T 1.R.

2 2 4

 
       

 

3 3
8 100

2 4
    

= –900 J

decrease in internal energy is 900 J

Modern Physics : Atomic

13. In a photoelectric experiment a parallel beam of monochromatic light with power of 200 W is incident on a

perfectly absorbing cathode of work function 6.25 eV. The frequency of light is just above the threshold

frequency so that the photoelectrons are emitted with negligible kinetic energy. Assume that the photoelectron
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emission efficiency is 100%. A potential difference of 500 V is applied between the cathode and the anode. All

the emitted electrons are incident normally on the anode and are absorbed. The anode experiences a force

F = n × 10–4 N due to the impact of the electrons. The value of n is __________.

Mass of the electron m
e
 = 9 × 10–31 kg and 1.0 eV = 1.6 × 10–19 J.

,d izdk'k fo|qr iz;ksx esa 200 W 'kfDr okYkk ,d lekUrj ,do.khZ izdk'k fdj.k iaqt iw.kZ :i ls vo'kksf"kr djus okYks ,d

mRltZd ij fxjrk gSA mRltZd ds inkFkZ dk dk;ZQYkUk 6.25 eV gSA izdk'k dh vko`fRr] nsgYkh vko`fRr ls FkksM+h gh vf/kd gS]

ftlls mRlftZr gksUks okYkh izdkf'kd bysDVªkWUkksa dh xfrt ÅtkZ Ukx.; gSA ekUk fyft;s fd izdk'k fo|qr mRltZUk n{krk 100%

gSA mRltZd vkSj laxzkgd ds chp 500 V dk foHkokUrj Ykxk;k tkrk gSA mRlftZr gksUks okYks lHkh bysDVªkWUk  laxzkgd ij

vfHkYkEc vkifrr gksdj vo'kksf"kr gks tkrs gSA bysDVªkWUkksa dh laxzkgd ij VDdj ls F = n × 10–4 N dk cy yxrk gSA n dk

ekUk __________ gSA bysDVªkWUk dk nzO;ekUk m
e
 = 9 × 10–31 kg rFkk 1.0 eV = 1.6 × 10–19 J gSA

Ans. 24.00

S. Number of electrons emitted N = 
200W

6.25eV

rate of change of linear momentum of electrons = F = N 2mk

19

200
F

1.6 6.25 10


 
 ×  31 1929 10 1.6 10 500      = 24.00

Modern Physics : Atomic

14. Consider a hydrogen-like ionized atom with atomic number Z with a single electron. In the emission spectrum

of this atom, the photon emitted in the n = 2 to n = 1 transition has energy 74.8 eV higher than the photon

emitted in the n = 3 to n = 2 transition. The ionization energy of the hydrogen atom is 13.6 eV. The value of Z

is.

,d gkbMªkstUk tSlk vk;fUkd ijek.kq dk ijek.kq Øekad Z gSA bl ijek.kq esa ,d gh bysDVªkWUk gS bl ijek.kq ds
mRltZUk&LisDVªe esa] n = 2 ls n = 1 laØe.k (transition) ls mRiUUk gksUks okYks QksVkWUk (photon) dh ÅtkZ] n = 3 ls
n = 2 laØe.k ls mRiUUk gksUks okYks QksVkWUk dh ÅtkZ ls 74.8 eV vf/kd gSA gkbMªkstUk ijek.kq dh vk;UkUk ÅtkZ
(ionization energy) 13.6 eV gSA Z dk ekUk gS \

Ans. 3

S.
2 21 1 1

13.6Z 1 74.8eV 13.6z
4 4 9

   
      

   

2 11
13.6 Z 74.8

18

 
   

 

2Z 9 Z 3   

SECTION 3 (Maximum Marks: 12)

This section contains FOUR (04) questions.

Each question has TWO (02) matching lists: LIST-I and LIST-II.
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FOUR options are given representing matching of elements from LIST-I and LIST-II. ONLY ONE of these

four options corresponds to a correct matching.

For each question, choose the option corresponding to the correct matching.

For each question, marks will be awarded according to the following marking scheme:

Full Marks : +3 If ONLY the option corresponding to the correct matching is chosen.

Zero Marks : 0 If none of the options is chosen (i.e. the question is unanswered).

Negative Marks : –1 In all other cases.

Electrostatics

15. The electric field  E is measured at a point P(0, 0, d) generated due to various charge distributions and the

dependence of  E on d is found to be different for different charge distributions. List-I contains different

relations between E and d. List-II describes different electric charge distributions, along with their locations.

Match the functions in List-I with the related charge distributions in List-II.

List I List II

P. E is independent of d 1. A point charge Q at the origin

Q. 
1

E
d

 2. A small dipole with point charges Q at (0,0,l) and –Q at

(0, 0, –l). Take 2l << d

R.  2

1
E

d
 3.  An infinite line charge coincident with the x-axis with

uniform linear charge density 

S.  3

1
E

d
 4.  Two infinite wires carrying uniform linear charge density

parallel to the x-axis. The one along (y = 0, z = l) has a charge

density   and the one along (y = 0, z = –l) has a charge

density –. Take 2l << d.

5. Infinite plane charge coincident with the xy-plane with

uniform surface charge density

Codes :

(A) P  5; Q  3, 4; R  1; S  2

(B) P  5; Q  3; R  1, 4; S  2

(C) P  5; Q  3; R  1, 2; S  4

(D) P  4; Q  2, 3; R  1; S  5

fofHkUUk vkos'k forj.kksa ls mRiUUk gksUks okYks fo|qr {ks=k E dk ,d fcUnq P(0, 0, d) ij ekiUk fd;k tkrk gS vkSj
bl fo|qr {ks=k E dh d ij fuHkZjrk vYkx&vYkx ik;h tkrh gSA lwph I esa E rFkk d ds chp esa vYkx&vYkx lEcU/
k fn;s x;s gSA lwph II fofHkUUk izdkj ds vkos'k forj.kksa vkSj muds LFkkUkkas dks crkrh gSA lwph I ds QyUkksa dk lwph
II ls lacaf/kr vkos'k forj.kksa ls lwesYk dhft;s &
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lwph I lwph II

P. E, d ij fuHkZj ugha djrk gSA 1. ewYk fCkUnq ij fcUnq vkos'k Q

Q. 
1

E
d

 2. ,d Yk?kq f}/kzqo ftldk fcUnq vkos'k Q tks (0,0,l) ij gS

rFkk –Q tks (0, 0, –l) ij gS ekfUk;s 2l << d

R.  2

1
E

d
 3.  vUkUr YkEckbZ dk ,d lekUk js[kh; vkos'k ?kUkRo okYkk rkj

tks x-v{k ls lEikrh gS

S.  3

1
E

d
 4.  vUkUr YkEckbZ ds ,dlekUk js[kh; vkos'k ?kUkRo okYks nks rkj

tks x-v{k ds lekUrj gSA (y = 0, z = l) okYks rkj ij   vkos'k
?kUkRo gS rFkk (y = 0, z = –l) okYks rkj ij – vkos'k ?kUkRo gS
ekfUk;s 2l << d.

5. ,dlekUk vkos'k ?kUkRo dk vUkUr lerYk pknj
tks xy-rYk ls lEikrh gSA

Codes :

(A) P  5; Q  3, 4; R  1; S  2

(B) P  5; Q  3; R  1, 4; S  2

(C) P  5; Q  3; R  1, 2; S  4

(D) P  4; Q  2, 3; R  1; S  5

S. B

Ans. (1) in case of point charge  2

KQ
E

d


(2) in case of dipole  3

Kp
E

d


(3) For an infinite long line charge 
2K

E
d



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(4) 

2 2 2 2

K k
E cos

r d d

 
    

 

l

l l   22 2

4k 2k

dd

 




l l

l

(5) 
0

E
2





Gravitation

16. A planet of mass  M, has two natural satellites with masses m
1
 and m

2
. The radii of their circular orbits are R

1

and R
2
 respectively. Ignore the gravitational force between the satellites. Define  1 , L

1
, K

1
 and TT

1
 to be,

respectively, the orbital speed, angular momentum, kinetic energy and time period of revolution of satellite 1;

and  2 , L
2
, K

2
 and T

2
 to be the corresponding quantities of satellite 2.

Given m
1
/m

2
 = 2 and R

1
/R

2
 = 1/4, match the ratios in List-I to the numbers in List-II.

M nzO;ekUk okYks ,d xzg ds nks izkd`frd mixzg nks o`Rrh; d{kksa esa ifjØe.k dj jgs gSA mixzgksa ds chp

xq:Rokd"kZ.k cYk dh mis{kk dhft;s igYkk mixzg] ftldk nzO;ekUk m
1
, d{kh; pkYk 1 , dks.kh; laosx L

1
, xfrt

ÅtkZ K
1
 rFkk vkorZdkYk T

1
 gS] R

1
 f=kT;k okYkh d{kk esa LFkkfir gSA nwljk mixzg] ftldk nzO;ekUk m

2
 ] d{kh;

pkYk 2 , dks.kh; laosx L
2
, xfrt ÅtkZ K

2
 rFkk vkorZdkYk T

2
 gS] R

2
 f=kT;k okYkh d{kk esa LFkkfir gSA ;fn

m
1
/m

2
 = 2 vkSj R

1
/R

2
 = 1/4 gks rks lwph I esa fn;s x;s vuqikrksa dk lqesYk lwph II esa nh x;h la[;kvksa ds lkFk djsa

List I List II

P. 
1

2



 1. 
1

8

Q. 
1

2

L

L 2. 1

R. 
1

2

K

K 3. 2

S. 
1

2

T

T 4. 8

Codes :
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(A) P  4; Q  2; R  1; S  3

(B) P  3; Q  2; R  4; S  1

(C) P  2; Q  3; R  1; S  4

(D) P  2; Q  3; R  4; S  1

S. B

(P)  0

GM
v

R


1 2

2 1

v R 2

v R 1
 

(Q) L = mvR

1 1 1 1

2 2 2 2

L m v R 2 2 1
1

L m v R 1 1 4
      

(R) 
GMm

KE
R



1 1 1

2 2 2

K m R 2 4
8

K m R 1 1
    

(S) 

3/2

1 1

2 2

T R 1

T R 8

 
  
 

Thermodynamics

17. One mole of a monatomic ideal gas undergoes four thermodynamic processes as shown schematically in the

PV-diagram below. Among these four processes, one is isobaric, one is isochoric, one is isothermal and one is

adiabatic. Match the processes mentioned in List-1 with the corresponding statements in List-II.

,dijekf.od vkn'kZ xSl dk ,d eksYk] pkj Å"ekxrh; izØeksa ls xqtjrk gS] tSlk fd uhps PV-O;oLFkk fp=k esa
n'kkZ;k x;k gSA ;gka fn;s x;s izØeksa esa ,d lenkch;] ,d levk;rfUkd] ,d lerkih; vkSj ,d :}ks"e
(adiabatic) gSA lwph I esa fn;s x;s izØeksa dk lwph II esa fn;s x;s laxr dFkUkksa ls lqesYk djsa &

LIST–I LIST–II

P. In process I 1. Work done by the gas is zero
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Q. In process II 2. Temperature of the gas remains unchanged

R. In process III 3. No heat is exchanged between the gas and

its surroundings

S. In process IV 4. Work done by the gas is 6P
0
V

0

lwph –I lwph–II

P. izØe I esa 1. xSl }kjk fd;k x;k dk;Z 'kwU; gSA
Q. izØe II esa 2. xSl dk rkiekUk ugha cnYkrk gSA
R. izØe III esa 3. xSl vkSj ifjos'k ds chp Å"ek izokg ugha gksrk gSA
S. izØe IV esa 4. xSl }kjk fd;k x;k dk;Z 6P

0
V

0 
gSA

(A) P  4; Q  3; R  1; S  2

(B) P  1; Q  3; R  2; S  4

(C) P  3; Q  4; R  1; S  2

(D) P  3; Q  4; R  2; S  1

S. C

(P) Process -1 is adiabatic (Q = 0)

(Q) Process -2 is isobaric

w = 6P
0
V

0
,

(R) Process -3 is isochoric

W = 0

(S) Process -4 is isothermal (T = constant)

Rotational Dynamics

18. In the List-I below, four different paths of a particle are given as functions of time. In these functions,  and  

are positive constants of appropriate dimensions and  . In each case, the force acting on the particle is

either zero or conservative. In List-II, five physical quantities of the particle are mentioned :  p


 is the linear

momentum,  L


 is the angular momentum about the origin,  K is the kinetic energy, U is the potential energy and

E is the total energy. Match each path in List-I with those quantities in List-II, which are conserved for that

path.

uhps nh x;h lwph-I esa] ,d d.k ds pkj fofHkUUk iFk] le; ds fofHkUUk QYkUkksa ds :i esa fn;s x;s gSA bu QyUkksa
esa  vkSj  mfpr foekvksa okYks /kUkkRed fu;rkad gS] tgka  A izR;sd iFk esa d.k ij YkxUks okYkk cYk ;k
rks 'kwU; gS ;k laj{kh (conservative) gSA lwph-II esa d.k dh ikap HkkSfrd jkf'k;ksa dk fooj.k fn;k x;k gSA

p


 js[kh; laosx (linear momentum) gS],  L


 ewYk fcUnq (origin) ds lkis{k dks.kh; laosx (angular momentum) gS] K

xfrt ÅtkZ (kinetic energy) gS U fLFkfrt ÅtkZ gS vkSj E dqYk ÅtkZ gS lwph I ds izR;sd iFk dk lwph II esa fn;s
x;s mu jkf'k;ksa ls lqesYk dhft;s] tks ml iFk ds fy, laj{kh gSA
List / lwph I List / lwph II

P.     ˆ ˆr t t i t j  


1.  p


Q.    ˆ ˆr t cos t i sin t j    


2.  L


R.     ˆ ˆr t cos t i sin t j    


3.  K
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S.    2ˆ ˆr t i t j
2


  


4.  U

5.  E

Codes :

(A) P  1, 2, 3, 4, 5; Q  2, 5; R  2, 3, 4, 5; S  5

(B) P  1, 2, 3, 4, 5; Q  3, 5; R  2, 3, 4, 5; S  2, 5

(C) P  2, 3, 4; Q  5; R  1, 2, 4; S  2, 5

(D) P  1, 2, 3, 5; Q  2, 5; R  2, 3, 4, 5; S  2, 5

S. A

(P)  V


 = constant a


 = 0 P   1, 2, 3, 4, 5

(Q)  2a r 
   path of the particle is elliptical Q   2, 5

(R)  2a r 
   path of the particle is circular R   2, 3, 4, 5  V


 = constant

(S) a


 = constant S   5


